Aufstiegswettkampfe Manner | (8-er)

1.Wettkampf 13.04.25 Holz Gummi Gesamt
Wende 2|3 = |2|3] = |2|3]| =

1. |Berumbur (kreisu.) 51 2 83 51 2 46 11| 0 129

2. |Mamburg (ESE) 6 (0| 160 | 5| 2 77 | 11| 2 | 237

3. |INeuwesteel (kreist.)| 6 | 1 | 100 | 5 | 3 | 127 | 12| 0 | 227
1.Wettkampf 13.04.25 Holz Gummi Gesamt
c o [ - c —

Ziel 2|3 = |2|3] = |2|3]| =

1. [Mamburg (ESE) 11| 2 22 (10| 3| 100 [22| 1 | 122

2. |Berumbur (kreisu.) 11( 2 | 107 |11 | 3 | 131 [23| 1 | 238

3. |INeuwesteel (kreisti.) [ 13| 2 | 108 | 11| 2 | 149 | 25| 0 | 257
2.Wettkampf 27.04.25 Holz Gummi Gesamt
Wende 2|3 = |2|3] = |2|3]| =

1. [Mamburg (ESE) 60| 136 | 5| 3 90 | 11| 3 | 226

2. |Berumbur (kreisu.) 61| 103 | 5| 3 47 (12| 0 | 150

3. |Neuwesteel (kreisu.)| 6 | 3 80 6|1 48 (13| 0 | 128
2.Wettkampf 27.04.25 Holz Gummi Gesamt
slel 5 [Sle] 5 |8]e] s

c S E < 15 4(]_.‘) = :5 40_-;

Ziel (2| = |2|2| = |&|2| =

1. [Mamburg (ESE) 12| 1| 152 [10] 2 42 (22| 3 | 194

2. INeuwesteel (kreisti.) | 13 | 1 29 [11| 2 | 132 |24| 3 | 161

3. |Berumbur (kreisu.) 13| 0 12 (12| 0 3 25| 0 15
Gesamtwertung Holz Gummi Gesamt
slel 5 [Sle] 5 |2]e] s

c S E < 15 4(]_.‘) = :5 40_-;

(2| = [g|2] = |22 =

1. [Mamburg (ESE) 23| 3| 174 |21 1| 142 |45| 0 | 316

2. |Berumbur (kreisu.) 241 2 | 119 |23 | 3 | 134 |48 | 1 | 253

3. |Neuwesteel (kreisu.) [ 26| 3 | 137 (23| 0 | 281 |49 | 3 | 418




